Higher Grade Paper 2 2007/2008 Marking Scher
Give | mark for each e Hiustration(s) for awarding each mark
ke’
i{a) ans: Iy-x=-21 {3 marks)
€ finds midpoint of BC e midpoint BC: (10,4}
; ' , 440
&€~ establishes gradient of AM € m,, = ==
g ST,
€~ substitutes in general equation € yv—4=2(x-10)
(b) ans:  D(4.1) {3 marks}
€ realising v=1 € v=1
€~ subsututes into equation € 2(1)—x=-lix=4
€ siates coordinates of D e D41
(¢} ans: proof (3 marks)
¢ finds gradient of BD e my, =-2
e~ knows condition for perp. lines € m, xm, =-1 [stated or implied]
€’ makes statement re perpendicular € Ltx-2=-1s0AM and BD ars perp.
2(a) ans: P(1-%) ’ (4 marks)
_— . o : «; poodv
¢  knows to take derivative and equate 10 0 ¢ = ()
e takes derivative 6" 3x  —15x+12=0
" soives to find x - coordinate € x=1 [ord]
- substitutes to find v - coordinate ¢ y=1" L0122 -18=-2
(b) ans:  Q6.0) (3 marks)
knows to make =0 v=_0
= uses synthetic division to find x € 0] - 12 18
; 2
I -2 3 0
e’ states coordinates of Q e 6.0}




Give 1 mark for each ¢ Illustration(s) for awarding each mark

apc:  32.6 cigatonnes (3 marks)
bl 3

3(a)

orrect multiplier e (96
ompletes calculation e (967 x40
| & calculation and correct rounding €’ 32.6 gigatonnes
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{b) ans: 31 gigatonnes (3 marks)

1 . 1 5 L.

€' sets up recurrence relation e U, =091, +5¢8

¢’ knows to calculate 3 figures € 1% vear: 36.4; 27 vear: 33-4795
¢’ final answer € 3 g :

per 20-6; lower 16-8 (3 marks)
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€ knows limit exists €' limit exists sinee -1 <0 967 < 1
. A 3-8

¢~ finds upper iimit ¢ L=——n-o =206
; 1—(0-96)
e finds lower limit e 20:6-38= 16-8
4(a) ans: a=-1 (2 marks)
¢’ finds expression for f(g(=2)) e flg(-2)=[f-l1=1+a
¢ eguates to -1 and solves fora e g=-2
(b} aps: x=-2.0.2 (5 marks)
€ substitutes & Ffy=" =2y =1
e~ simplifies e x —4xm =+l
¢ eguates to 2 e oyt eaxtan=200 -4 =0
¢ Tactorises e x(x-4)=0
e solves forx Tox=-2.02
5(a) ans: x=1 (2 marks)
! realises v = (; equates to 0 e 3y —6x+2=0
~ solves for x e 3x—1)y=0x=1
{b) ans: =1 (5 marks)
& Integrates expression e [x -3y e 3x7
e~ substitutes values e (T =3p7 +3b-(1-23-3)
e simplifies, equates to 1. rearranges e b -3 +3b-2=0
4 .. N 4 by ~ ~ ~
¢ uses synthetic division 1o soive . e 201 -3 3 -2
| ) S T R
-+ ¢ =02




Give 1 mark for each e

5(c) ans: y=6x-9 {4 marks)
e finds ‘¢ e  whenx=2 v=23 Q2.3
¢ knows to differentiate - L=6x-6
e substitutes to find gradient ¢ whenx=2:2=6
e substitutes into general equation e v-3=6(x-2)
6(a) ans: {(-2.1) {3 marks)
¢ substitutes eq.of line in eq. of circle € 51-12=0
e¢”  simplifies and solves for x €
e substitutes o find v €
(b) ans: (x+6) +(G -3y =20 (3 marks)
e  establishes coordinates of B e
° finds .
¢’ anbstitutes into general circie equation €
T{ay; ans: AE= 5 B(=4 {Z marks
e Lknows to use Pythagora ¢ evidence
€~ finds rwo lengths ¢ AE=V35BC=V(23-9)=4
{b) ans: prooi (4 marks}
€ knows to expand e
¢~ finds expression for ratios € —
e’ subsand starts to simplify ¢
€”  completes simplification to answer e
8(a)  ans: m=2400ml {4 marks)
¢ knows to differentiate and equate to 0 ¢ H'(m=0
. R ]
- - - A > 5
&€~ cifferenuates € 4 m=0
. ) 600
& solves for: e m=2400
¢” justifies maximum € table of values: second derivative
{b) ans: 4800 feet {1 mark)
; e , U e, (240097
€ knows to sub into function and evaluate € 4{2400)-- — = 4800fezt
1200

Total:

(R 45 SN

60 marks
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